<2 EHT A PR > — N R

[#5] @ESLGREAORM (1)

< S DI >

i AR

@O Mz &2 W TEET 5,
Q@ VPTHANEETHZ D,

@ HED 3N (Fape—asxnsp, wppy- B s BN o5
e 1

R SR I DWW T T 5 Z &30y,

[B] ABIE. F2b 1800m BN =K ANDFE T DIZ, HEZHE THS) 250m O X T
HBELE LN, P CHEHEN N7 LinT-, HERHEZ I L T4 50m O

STHE, 20> TRKANDE~ESE Lc, BEREP/N 7 LD,
B mIEATZLE ZATT D,

(%]

1800m
ﬁgifﬂft;:$12??E7::N
=

LUN
——F——
: 250m .7y : 50m 4y V1253730l

OO L ST, FEob BEREN R LS Z2 xm, 750 OFFEEE ym & LT
AL R AN TS,

{ X + y=1800 (D (FEEEIZ OV TR
X .Y _
350 "0 L2
Qo % 250 % L.
Xx+5y=3000 @

(ORl®)

@) (DB EERNC SN TR

X+y=1800

—) x+5y=3000

-4y =-1200
y=300 @

@&EDIZIEA

X+300=1800
%) 1
x=1500 () 1500m

Se BernrsEET



